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U=R,EH A= {220} ,B={x|x>—1},0 A, HANB=C,M( [A)U([xB)=U
F£450(ANB)= « B. #ANB=, N A= B=)
A, x| —1<x<0} C. #AUB=U,W(AN(B)=D
B, {r|—1<x<0] D. #AUB=U,WA=B=)
C. {zxla<—18 =0} —ExT#E
D. {x|lz<<—15 x>0 10. #HARHEU=10,1,2,31H [bA=1{2},MES A
2. dHEEU={1,2,34] F£HA=11,2,3],B= B I A
(2,3,41 0 L (ANB)= C ) 1 BAeBU=RESA=2]2=0] ,B=1y|y=
A. 12,3 B. 11,234 10 GoA 5 0B % R A
C. 1.4] D. 12,34 12 BHIABRIEEES EXEHA-B=|z|
*3. WAefEU=12,4,5,6,7,9,ANB=1{4,5,6, CEAHLEBl B M=1zlr<1| N=1|y|o<
7%)”']( EUA)U(EUB): ( ) y<1}’|ﬂu M—N= , ER(M_N):
A. {3,5,6,8} B. {2,3,8,9]
C. 12,9} D. {5,6} = mem

4, CHIEAS A= |1<a<2|, 245 B={x|xz>
mi, 27 AN CB)=C), WSEE m B BUEFEF A

13. [2023« Ak L P FH—M+] CRE
HA= x| —3<xr—6<4],B={z|2<x<<T},

¢ C={x|b—a<<x<al.
A (=] B. (7,2 (1)5k AUB,( LeA) (B
eueD bk (2)% CS(AUB) I o BN,
5. 2M4eEU=MUN=1{1,2,3,4,5|,MN
(LN)=12,4] 0] N= ()
A. {1,2,3} B. {1,3,5!
C. {1,4,5} D. f2,3,4}

*6. [2023- AEEBH—MY] CHREUES A=
{173’5’7}’ [:UA:{294,6}’ CUB:§15456},I)_I\IJ

£5 B= C )
A. {3,5,7 B. {3,7]
C. {2,3,5,7} D. 3,5

7. EHEBEU= {2 €L 0<a<8|,EH A=|zC
Z|2<<x<<m!|(2<<m<8),%# (A HTENE N

A, SEHCm 0 BUATE R «C )
A. (6,7] B. [6,7)
C. [6,7] D. (6,7)

8. (ZH/AEFEELGM={x|—3<z<<1},N={zx|
<3 MES 23 =1} = C )
A. MN B. (kM
C. [R(MNN) D. [x(MUN)

g5 £ESEMBEMRE %3M % 009
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e

XIS %
do FS

-

14, BHESF A={2]|0<s<2|,B={x]a<a<
a-+3}.
(D#([kA)UB=R,3REE o HEUETEE ;
() REHFAELE o, H( [A)UB=R H AN
B=(?

010 & 28R%%E =hHy SES—MH RSB

O B4R

15.

16.

(% %A T Ak ETRE A C )
A fp E—[reN| S N| e

B. # AUB=U,M([,A)N([;B)=(U A
25)
M={x|z*—32+2=0} ,N={x|mx—1=

o

O},%MQN,)”JJMG{I,%}

D. #c€QM € |a|e=1p.q€2Z.p#0|

CHIES A={x]| —1<2x<2},B={z|a<a<
a+2}.

(H#FH a=1,R AUB.

(D (A= [B;QAUB=A;QANB=
B X =AM ARG — A R S, REEHL «
B A O . (R R SRR B 2 A Sk o0 i
B MR S — AR BT )
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SEE 1.1

(B 1) .45 54

— ADUERSER . A AL 6 /LA /NS 2. 35 30 2

1.

KREEU=R,EHFA={z]|
0<ax<{2},B=1{x| — 1<K
TE, D)l v B %30 4 38 s 1Y 4

GO’

s «C )

A. [0,1]

B. (—eo,—1)U(2,+00)

C. [—1,2]

D. (—oo,—1]JU[2,+00)

SR U=11,2,34}, H5 A=11,2],B=

(2,31, (,(AUB)= C )
A. {1,3,4] B. 13,4}

C. {3} D. {4}

EEIES M=12,a"—3a+5,5|,N=1{1,a’—
6a+10,3} ,MON=1{2,3},0] ¢ = ()
A 152 B. 254

C. 2 D. 1

BEAA={z€N|—1<x<3|,B=1{2},3 BS
(

MCA W A F R B MBS E0 )
Al B. 2
C. 3 D. 4

[2023 - AR A S — ¥ ] KESGA={2]0<
<2}, BE B={x|la>m| & ASB,WELH m

(1) AR 1l « )
A. (—o0,0) B. (—<=,0]
C. [0,2) D. [2,+c0)

HCA)ERETESR A P XN, E X
{C(A)—C(B),C(A)>C(B),

Ax B= T
C(B)—C(A),C(A)<<C(B),

11,2} , B={z|(x+a)(z*+ax*+2x)=0}, H

Ax B=1, L% o 0P A 0] BE BB KR &

<

o=

S, M C(S)= C )
A4 B. 3
C. 2 D. 1

248 .100 %)

Z BTUEREE A AR 2 /AL AN 6 2,3 12 2

7.

©

10.

11.

cHU=12,3,4,5,6,7},M=13,4,5,7} ,N=

{2,4,5,61,0 ()

A, MNN=1{4,61

B. MUN=U

C. (LN UM=M

D. ([(M)NN= [(M

TAIFAS M, P RIS R 55 ) ( )

Ao M=l{z|x=2m,me€Z},P={r|r=2(n+
1),n€Z}

B. M={yly=x"+1,2ER},P=|z|x=1"+
1,t ER}

3

5—x

C. M={x

eLxeNLP:Lﬂx:%,

1<<k<<4,k EN|

=

M={yly=z"—1,2€R},P={(x,y)|y=
x?—1,x €R}

EERE . A 3 DA NS 2,38 15 2
WEAFKEZDN S, 5—RIH 28 A&tk
P, H WA 15 ASNEKRTH . 8 AS W
A 14 NSINAREE, [ I 2204 7k i 5 A 28
A 3 N, B2k H RZRRGAE 3 A,
B N FZ = A5 5 i 38, ) 2 22 iz 58
iOEEY A.

CHIES A=1{2a¢—1,4",0},B=1{1
91, % ANB=1{9}, W3LH a WA .
MHAEEGPE AN EE NS —EAGNTE
B FRX PN ES Z B 2 7 YA ES
ARITTHE AHE AKX J7FE B, FRIX A5

r
22

—a,a—>5,

SRR TS A=

1y3:uumuqzoﬁ<oL%Azggmﬁ

CERTEM W ET, W WREES N

£ £eS5EMBEMRE 3 % 011



B

®E

XIS %
do F

N

M R A A 3 N, 43 4

12, (13 4)[2023 - R+ TP H—AF] CH%E
HA=|x|]z|<3|,B={z|3—a<x<a-+t1}.
(D% a=4 8, 3R([A)NB;
(2)#F AUB=A ,3KR5H o (1 BUEE .

13. (15 M HE“DANB=B,QBC [{A,®AN
B=" X =A G AR — A AN FEAE T 1E
BEZE b, IF SRR ) I
CHES A={x| —2<s<<6]|,EH5 B={z|

m<x<m+5}.
(H#Fm=2, R ANB,( [RA)UB;
(2)# R SEH m B B VE .

F < LRI R A 25 5 B DAL 55—
Hitsh.

012 % 28%%E =hH¥ SES—MH RSB

14.

(15 e A=[—3,10],B=[2m+1,3m—2].
(1)ZHAUB=A 3R m WBUETEH ;
(2)H ANB#), sRLH m 1 BUE YE .
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